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Rela­«o do a­o Sapatas

2xS1 S2 S3

S5 4xS6 S10

S12 S14 S15

5xS16 S19 S20

S21 S23 S24

A¢O N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 13 76 988

2 5.0 52 70 3640

3 5.0 26 80 2080

4 5.0 13 98 1274

5 5.0 247 146 36062

6 5.0 494 36 17784

7 5.0 13 88 1144

CA50 8 10.0 4 VAR VAR

9 10.0 6 82 492

10 10.0 6 92 552

11 10.0 106 VAR VAR

12 10.0 6 97 582

13 10.0 6 102 612

14 10.0 30 107 3210

15 10.0 6 107 642

16 10.0 6 132 792

17 10.0 36 132 4752

18 10.0 8 VAR VAR

19 10.0 6 177 1062

20 10.0 6 152 912

21 10.0 8 VAR VAR

22 10.0 18 157 2826

23 10.0 6 182 1092

24 10.0 16 VAR VAR

25 10.0 12 187 2244

26 10.0 6 122 732

27 10.0 14 147 2058

28 10.0 32 VAR VAR

29 10.0 24 202 4848

30 10.0 24 172 4128

31 10.0 38 157 5966

32 10.0 8 VAR VAR

33 10.0 6 227 1362

34 10.0 7 197 1379

35 10.0 8 VAR VAR

36 10.0 7 202 1414

37 10.0 6 232 1392

38 10.0 8 VAR VAR

39 10.0 6 247 1482

40 10.0 7 217 1519

Resumo do a­o

A¢O DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

982.7

629.8

666.4

106.8

PESO TOTAL

CA50

CA60

666.4

106.8

Vol. de concreto total (C-25) = 18.68 mį

Ćrea de forma total = 87.68 mĮ
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P19

20x26

P20

C30x10

P21

I 25x30x12x12

P22

I 25x30x12x12

P23

15x25

P24(MORRE)

Forma do pavimento Funda­«o

escala 1:50

Vigas

Nome
Se­«o Eleva­«o

N²vel

(cm) (cm) (cm)

V1 15x35 0 0

V2 15x35 0 0

15x30 0 0

V3 15x35 0 0

V4 15x35 0 0

V5 18x50 0 0

V6 15x35 0 0

V7 15x30 0 0

V8 15x35 0 0

V9 15x30 0 0

V10 15x35 0 0

V11 15x35 0 0

V12 15x35 0 0

V13 15x35 0 0

V14 15x30 0 0

V15 15x30 0 0

V16 12x30 0 0

S3


